# Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name : GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year : 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/4341/2/7/83154 Sanction Date: 02/02/2018

Application ID	The same of the sa							n professional	president of the Co	Str	
	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1321950	MAHESH KUMAR MADE	Male .	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	3457
1352096	RENU KORAM	Female /	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	3457
1352492	KAKA MANJULA	Female	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	3457
- 1352901	ANIL BANDHAM	Male	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	5617
1353103	MEENA KARTAM	Female.	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	561
- 1353388	VANDANA CHIDEM	Female /	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	345
r 1353826	RAMESH KUMAR KURSAM	Male -	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	345
- 1355425	KESHAV PALDEV	Male .	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	345
- 1355589	RAVI VOLTAR TOPNO	Male ,	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	345
1355798	SARITA CHIDEM	Female /	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	- 345
1355877	PADMA CHIDEM	Female /	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	. 345
/ 1355966	SUNIL MATTI -	Male •	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	345
/ 1356042	BUDHRAM MICHCHA	. Male .	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	56
1356140	REETA YALAM	- Female /	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	56
/ 1356206	HARISHANKAR MOURYA	Male	B. A./Arts/I	Fresh	8	300	2400	0	1057	1057	34
/ 1356315	AARTI BANDHAM	Female /;	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	563
1356382	PRABHAWATI ALAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	.34

### Deciaration:

Place :

NIC-

Page 1/3

(Signature & Seal of Head of the Institution).

Name (Capital Lete(s).

DR. A. K. DJ X.

his Sanction is generated by Scholarship Portal. Printed on 2/8/2018.

1

### action Register for Scholarship

overnment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category ST

Institute Name : GOVT INDRAVATI COLLEGE BHOPALPATNAM



State: Government of Chhattisgarh

Sanction Number: N/7/4341/2/7/83154

Sanction Date : 02/02/2018

Applications Type: Fresh

- 10	Academic Year 1 2017 - 18					Applications Type: Team							
Application I	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount		
135644	A AASHVAN KUDIYAM	Male -	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
13565	1 SURYAKANTA DUBBA	Female #	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3472		
10.100	74 NARENDRA GOTE	Male .	8. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3472		
-	13 SADNA KURSAM	Female *	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
	78 SHUSEELA VENDIA	Female /	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
-	SI HARSHITA PARET'	Female *	B. A./Arts/1	Fresh	8	300	2400	0	1072	1072	3472		
THE REAL	84 HARISH POLEBOINA	Male .	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3472		
TROPIES.	44 GEETANJALI KAKA	Female *	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3472		
	72 KISHOR MADDE -	Male -	B. Sc./Science/1	Fresh	8	300	2400	0	1072	1072	3472		
	99 YOGENDRA DEVER	Male	B. A./Arts/I	Fresh	8	570	4560	0	1057	1057	5617		
The state of the s	55 BHAGYALAXMI YALAM	Fernale /	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
		Female /	B. Sc./Science/1	Fresh	8	300	2400	0	1072	1072	3472		
	867 JITENDRA KUMAR MADAKAM	Male -	B. Sc./Science/I	Fresh	8	300	- 25,550	0	1072	1072	3472		
5 121,121	017 SONIKA TELAM	Female /	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
	172 OMPRAKASH MADE	Male -	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3472		
	220 SHAYMLATA WASAM	- Female (	B. Sc./Science/I	Fresh	8	570	4560	0	1072	1072	5632		
	348 PRADEEP TELAM	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1072	1072	3477		
- 1	978 DEVENDRA KURSAM	Male -	8. Sc./Science/I	Fresh	8	570		0	1072	1072	5632		

### Declaration:

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications matrices are stricted to be serial no. I to \_\_\_\_ I do here by sanctioning a sum of Rs. \_\_\_\_\_\_ as maintenance allowance and Rs. \_\_\_\_\_\_ as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the students any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is delegated.

(Signature & Seal of Head of the Institution)

Name (Capital Legus)

Page 2/3

This Sanction is generated by Scholarship Portal. Printed on 2/8/2018

DR. A.K. DIXIT

### ction Register for Scholarship

emment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year : 2017 - 18

State: Government of Chhattisgarh

Sanction Number: N/7/4341/2/7/83154 Sanction Date : 02/02/2018

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1414703 VC	GESHWARI YALAM	Female	B. Sc./Science/I	Fresh	8	8 300	2400	0	1072	1072	3472
Yataras In	ASCORIVARE TACAM	Lensing 2	in actadement	riesi	1.5%	Total :	114480	0	38352	38352	152832

#### Declaration:

Date :

MIC

Page 3/3

DR. A.K. DIXIT This Sanction is generated by Scholarship Portal, Printed on 2/8/2018

3

## tion Register for Scholarship.

ernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: N/7/4341/3/10/83163

Sanction Date: 02/02/2018 Applications Type: Fresh

Application ID	Territoria de la constanta de	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1356628	SAGER KUMAR MORLA	Male -	B. Sc./Science/I	Fresh	8	65	520	0	1072	1072	159
1356702	GREESHMA TOTAPALLI	Female #	B. Sc./Science/I	Fresh	8	70	560	0	1072	1072	163
1356758	RAJESHWARI TOTAPALLI	Female <	B. Sc./Science/I	Fresh	8	70	560	0	1072	1072	163
1409367	RAVINDRA RATPALLI	Male :	B. Sc./Science/I	Fresh	8	65	520	0	1072	1072	159
1409925	KHUSHI TAMDI	Female /	B. Sc./Science/I	Fresh	8	70	100	0	1072	1072	163
1410735	RAJU PENDIYAL	Male -	B. Sc./Science/I	Fresh	8	65		0	1072	1072	159
/ 1411319	AKASHAY KUMAR GURLA	Male .	B. Sc./Science/1	Fresh	8	65	520	0	1072	1072	159
/ 1414499	LALITA SINGH	Female -	B. Sc./Science/I	Fresh	8	70		0	1072	1072	163
-1190		A SERVICE	Approximation of the second			Total :	4320	0	8576	8576	1289

### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from Principal College Co.G.

Place: Date :

RHC

Page 1/1

A.K. DIXITS This Sanction is generated by Scholarship Portal, Printed on 2/8/2018

(Signature & Seal of Head of th Name (Capital Leters)

# cion Register for Scholarship

rnment of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year: 2017 - 18

Sanction Number: R/7/4341/2/7/83156

Senction Date: 02/02/2018 Applications Type: Renewal

Application ID	Student Name		Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1171392	NUTAN YALAM	Fe	emale /	B. Sc./Science/III	Renewal	10	570		0	1072	1072	677
1173826	RATNAIYA TALANDI	M	ale -	B. Sc./Science/III	Renewat	10	570	5700	0	1072	1072	677
1260321	KORAM SONA	· Fe	emale 🥌	B. Sc./Science/II	Renewal	10	570	5700	0	1072	1072	677
1260424	SANGEETA GUMMADI	. Fe	emale	B. Sc./Science/II	Renewal	10	570	5700	0	1072	1072	677
/1260594	KORSM PUSHPA	2 Fe	emale 🖟	B. Sc./Science/V	Renewal	10	570	5700	0	1072	1072	677
1260685	MINAKSHI SALAM	Fe	emale 🖟	B. Sc./Science/II	Renewal	10	300	3000	. 0	1072	1072	407
1295608	NIRMALA WASAM	Fe	emale 🥜	B. Sc./Science/II	Renewal	10	570	5700	0	1072	1072	677
1296351	MICHCHA MAHESH	M	lale -	8. Sc./Science/II	Renewal	10	570	5700	0	1072	1072	677
1296602	DEVRANJAN KORAM	M	lale -	B. Sc./Science/II	Renewal	10	300	3000	0	1072	1072	407.
							Total:	45900	0	9648	9648	55548

D	e	c	la	ra	tì	0	n	ŝ

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to \_\_\_\_\_\_ I do here by sanctioning a sum of Rs. \_\_\_\_\_\_\_ as maintenance allowance and Rs. \_\_\_\_\_\_ as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certified copy of online scholarship form attached

MIC

Page 1/1

DR. A.K. DIXIT

5

### cion Register for Scholarship

ernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category OBC

Institute Name: GOVT INDRAVATI COLLEGE BHOPALPATNAM

Academic Year: 2017 - 18

State: Government of Chhattisgarh Sanction Number: R/7/4341/3/10/83171

Sanction Date: 02/02/2018 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1170828 KI	SHOR KUMAR GURLA	Male	B. A./Arts/III	Renewal	10	65	650	0	1057	1057	1707
1303191 PR	RAKASH GURLA	Male	B. Sc./Science/III	Renewal	10	65	650	0	1072	1072	1722
						Total :	1300	0	2129	2129	3429

### Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority or eventual discontinuance of scholarship/stipend from the period it is detected authority.

MIC

Page 1/1

DR. A.K. DIXIT This Sanction is generated by Scholarship Portal. Printed on 2/8/2018